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No. of Questions : 150
V?ﬁﬁ'#@m: 150
Time : 2 Hours Full Marks : 450
"9 : 2 gue quriE ; 450

Nate : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
question.

aﬁﬁwnﬁﬁqﬁwmwmaﬁ‘lmqwa(ﬁﬁﬁ)
aﬁw%nﬁwww%%w%wmﬁm
maﬂﬁﬁﬁﬂﬁﬂwmﬁﬁ‘ﬂ\

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one,

aﬁwﬁmamwﬁaﬂ?%ﬁ@?mﬁﬁ,aﬁmq
el I T

01. Which one of the following is the distinguishing feature of an ortho-
dox system in Indian Philosophy ?

(1) belief in the authority of the Vedas
(2) belief in God

(3) belief in rebirth

(4) belief in karma

P.To.
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02. Which one of the following is regarded as an orthodox system but

03.

04.

05.

does not believe in God ?

(1) Advaita Vedanta (2) Visistadvaita Vedanta
(3) Yoga (4) Mimamsa

Preffeae & & i seax o fasare TE wxan Reg I9 enfasw

H9erg | S © ¢

(1) 37&d dgid (2) fafarserad i
(3) amT (4) e

The Carvaka system regards consciousness as :

(1) everchanging (2) a divine attribute
(3) by-product of matter (4) attribute of soul
ale qgie Jaar S A 8 7 |

(1) Hctct YRR (2) T OO

(3) ST d A I (4) ST 0 J

Which one of the following is regarded as the founder of the Carvaka

system ? '
(1) Carvaka (2) Brhaspati
(3) Vyasa (4) Shukracarya

: ﬁﬁaﬁ@ﬁg@mﬁwﬁmﬁww%?
() = () gewid
@ = @ g

i ini
ddha attained mahaparinirvang il
}Jlo)rd C}? :ya (2) Kushinagar

(4) Kapilavastu
(3) Saranath



06.

07.

08.
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WEM & AR w2 ure fear ?
(1) T&r (2) FMTR

(3) |AY (4) USR]

The world is like a dream-this view is held by ?

(1) Vijnanavada (2) Sunyavada
(3) Sautrantika (4) Vaibhasika
STd @Yaq & - 98 §a e & 7

(1) fasmEr (2) gaTE

(3) Hrrifees (4) Iwites

Anatmavada in Buddhism means :
(1) self is unknowable

(2) selfis a product of matter
(3) self is self - luminous

(4) self is an aggregate of five skandhas

Az 29 H ST W ooref T -

(1) oTET o199 2 | (2) ST S8 9 H IO 2
(3) ST WE HBIT B | (4) ST U9 WhedT T w X

According to Buddhism everything is dependent because :
(1) itis caused by another thing (2) itis momentary
(3) itis unreal (4) itis painfu
A 2 F orEr s I I ¥ iy

(1) 5% a8y fFl o7 avg @ g &

(2) &% gary & ¥

(3) &% FEg oy ¥

(4) TF TG gt 3

PTo.
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09. Which of the following are realist schools of Buddhism ?

10.

(1) Sautrantika and Yogacara  (2) Yogacara and Vaibhasika
(3) Madhyamika and Yogacara (4) Sautrantika and Vaibhasika

Frfafaa & & @9 drs a9 % aegardt d@ued € 7
(1) drtiides @ armer (2) GrTER T I
(3) HreEfys demr AFTER (4) QrAifees qUT IS

Which one of the following schools of Buddhism has argued that
movement is not possible ?

(1) Sautrantika (2) Vaibhasika
(3) Sunyavada (4) Vijnanavada

A= = & Pr=fiad gueat & 9 frem ao Rar @ &6 i
g el 2 7

(1) AR (2) aeivER
(3) AT (4) fasar
11. Anekantavada of Jainism means : |
(1) reality has no end (2) reality is one
(3) reality is many (4) reality is many-sided
5wt & STiEaaE & Y ¥
(1) @q P S T T (2) & THE
(@) A SEF & (4) | B I TE €
dvada of Jainism means : . |
. Slya :111 wnowledge 1s certain (2) no knowledge is certain
((3]] all gnowledge is relative (4) knowledge is impossible



13.

14.

15.
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S a3 B wean @ ooref §
(1) I9& 59 Fiveg 2) *E I e =& 2
(3) THE S | B (4) S oTHHg B

According to Jainism the jiva has :
(1) consciousness only
(2) extension only

(3) both consciousness and extension

(4) neither consciousness nor extension

S @9 & SR Sfig A

(1) +ad AT St 8

(2) Fae fawmR Srar &

(3) TAGr IR fowmr 4t B ®
(4) 7 Fa 7 @R ag ¥

Which one of the following is non-extended substance according to
Jainism ?

(1) time (2) jiva (3) space (4) motion
%@ﬁ%@ﬁﬁ%@ﬁﬁ%ﬂmﬂm%?
(1) T (2) i (3) fag (4) ot

According to Jainism motion is g substance which -
(1) generates merit in actions

(2) causes restin things

(3) provides ground for things to move

(4) generates movement in things

P.T.0,
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16.

1 4

18.

S 2 B AR uH gg 2T § o
(1) @@ # qua S e B

(2) FEgett 7 Rerar IO @Al ©

(3) aggall @ A & AN TS BIAT €
(4) aegent ® TRy S wRar ©

The essential attribute of soul according to Jainism is :

(I) consciousness (2) pleasure
(3) pain (4) determination

S aef & ST Sfig @ qRUH ®
(1) = (2) A (3) 3@ (4) HeheT

The jiva according to Jainism 1s .

(1) anu-parimana (2) madhyama parimana
(3) vibhu purimana (4) none of the above
S qef & oTgE o ¥

(1) SO~ (2) HEH-URHTT

(3) frg-afmm (4) STR A q TR T

the Karma- pudgals enter the jiva :
(2) through the medium of 'yoga'
(4) through adharma

According to the jaina philosophy
(1) of their own nature
(3) through ignorance

%ﬂi&ﬁ%aﬂﬂﬂﬁ—wzﬁrﬁﬂaﬁuﬁméﬁ%:

[l]mmﬁa () A & W A
[3) \—ﬂfs‘ﬂﬂ FARY [4J GTEFf ani
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19. The flow of Karma-pudgals towords Jiva is called :

20.

21.

22,

23.

(1) asrava (2) samvara (3) nirjara (4) bandha
FH-GTIA & ST & 3R qaE @ wed § .
(1) Eg (2) €ax (3) fet @) su

Which one of the following is not included in the three jewels of
Jainism ?

(1) samyak darsana (2) samyak jnana

(38) samyak caritra (4) samyak samkalpa
ﬁwﬁlf@aﬁﬁﬂéﬂasﬁ%%ﬁﬁmﬁaﬂﬁ%?

(1) a= 33f= (2) =g s

8] =% IR (4) TIF FdHey

The propounder of the Nyaya system is :

(1) Udayana (2)  Kanada (3) Gautam (4) Panini
=g 991 B gadw T

(1) 3=FH (2) " (3) Maw (4) arfory
Pramana according to Nyaya means :

(1) Valid knowledge (2) Means of valid knowledge
(3) Object of knowledge (4) purpose of knowledge
T B R B 9 3 SgER .

(1) =emef sy (2) U = e

(3) =M & fqug (4) S & gGrory

When one seeing a picce of sandalwood it is said that it is fragrant,
this knowledge according to the Nyaya is based o -

(1) Samanyalaksang Pratyasatti (2) Jnanaiaksang Pratyasatt;
(3) yogaja (4)  perception

P-T.O,
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24.

25.

26.

S FEH @& g Wl HIE AW &Y g€ del S © 6 g giilea @
dl A &R & STgER I S T ST 9T B 7

(1) | gerEi (2) STHECT T
(3) @ 4] SeR

‘Whatever is nameable is knowable' - this according to the Nyaya is
an instance of :

(1) Kewalanvayi vyapti (2) Kewalavyatireki vyapti
(3) anvayavyatireki vyapti (4) visama vyapti

S SATHET B, 98 39 ¥ - U &N & ITAN Fe fhuh
CEA R B

(1) Haar=ar e (2) FawAfIRED AN
(3) STagAfais MK 4) fauq exfa

‘Sky-lotus is fragrant because it is a flower’ - this inference according
to the Nyaya commits the fallacy of :

(1) Viruddha hetvabhasa (2) Badhita hetvabhasa

(3) Svarupasiddha hetvabhasa (4) asryasiddha hetvabhasa

SIS - T G & s 9e geT ¥ - 9@ SIgHT A =
gt B wigaR - A9 Fiew ¢ ?

(1) e g™ (2) wifaa ST
(3) taeufas sETAard (4) oTmHIEE EETdrd

Knowledge according to the Nyaya system is :
(1) intrinsically valid

(2) intrinsically invalid

(3) extrinsically valid o | |
(4) ntrinsically valid and intrinsically invalid

10
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28.

29.
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E 9 B TFER S5 B

(1) ©a: gHg
(2) @ IWHEY
(3) 9Xd: gmHTYg

(4) T g SR @ Sy

Soul according to the Nyaya system is :

(1) spiritual substance (2) material substance
(3) conscious substance (4) atomic substance
A U & AR o

(1) otegrfeRss ge (2) «Aifas =z

(3) TG 2= (4) urEmls ==
The propounder of the vaisesika system is :

(1) Prasastapada (2) Kanda

(3) Kapila (4) Gautam

NG < F yadE T

(1) grTqre (2) oI

(3) ehigaT (4) TMam

According to the vaisesika system :

(1) gunais an active substance
(2) guna has no universa]

(3) guna is an inactive substance
(4) gunaisnot g substance

A9 =37 & srER
(1) 37 §ieg ze7 ¥ @) T M g
(3) T°T M%ha ==y 3 4) I7 5 g 3

11
P.1.0.
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30. ‘Pot is not cloth’ - this according to the vaisesika is an instance of :
(1) pragabhava (2) atyantabhava
(3) anyonyabhava (4) pradhvamsabhava

‘I 9X el g'- AAME aMF B ATER A8 hEer IO B
(1) =TI (2) IAHATHAE
(3) <TERATAE (4) weEErEE

31. God according to the Nyaya philosophy is :
(1) material cause of the world
(2) efficient cause of the world
(3) both material and efficient cause of the world

(4) neither material nor efficient cause of the world

=g 9 B STER 2R @

(1) ST &1 SURH BT |

(2) ST &1 AT T |

(3) ST @ UG SR AR @Rer @
(4) ST T A ImEnT BT A A wReT

32. Vyapti according to the Nyaya philosophy is an invariable relation
between :
(1) hetu and sadhya (2) hetu and paksa

(3) paksa and sadhya (4) paksa and vipaksa

< o & STIAR e wh e gee @
m%@awmw%aﬁa (2) ¥g e ow B q=

(3quammw%2ﬁﬁ (4) qe7 qern faqer & o=

Mind according to the vaisesika system 1s :
(2) deha- parimana

parimana (4) inactive

# -y
33.

1) Vibhu

(
@) atom

12
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35.

36.
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a9 22 B SFTTAR 7 T
(1) fayg (2) e-ufETeTr
(3) STI-gRHATT 4) iR

Which one of the following is an instance of ordinary perciption
according to the Nyaya system ?

(1) Knowledge of universal

(2) Knowledge of pleasure and pain

(3) Knowledge that food looks tasty

(4) Knowledge of other’s mind

T T B AR Frefeiaa § & @ armer ey @
JEEI B 7

(1) SGHITS Rl 1 |

(2) G- 3@ I 74 |

(8) I® T & <ivm @iiRw Ragar 2

(4) 3= H T & 5 | |

Nyaya philosophy does not support :

(1) Spiritualism (2) pluralism
(3) atomism (4) monism
1 9 a9 a8t pear ?

(1) FATHAE (2) SEEE=
(3) ITHIATS (4) ThdEarg
The propounder of the Samkhya system is :

(1) Kapila (2) Asuri

(3) Isvarakrishna (4) Kanadg

e 9§ gedes §

(1) o (2) SmgR
(3) JETHTT (4) @omg

13
P'TIO.
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37. Samkhya Satkaryavada means :

38.

39.

40.

(1) realis born of the unreal (2) wunreal is of the real
(3) real is born of the real (4) apparent is born of the real

9 gopdars &1 oref
(1) omad & T I~ B & (2) dq o IT9q I9= T o
(3) O & A IO B & (4) HF F U IO~ & 2

Which one of the following is not a feature of the Samkhya Prakrti ?

(1) Unconscious(2) eternal (3) one (4) effect
Frfefea 4 | @ gieg @ agfa @t [ear T8 8 7
(1) STaa+ (2) fo (3) UH (4) F9E

Purusa according to the Samkhya is :
(1) cause of creation

(2) cffcet of creation

(3) both cause and effect of creation
(4) neither cause nor effect of creation

9 a3 % AgER 59 © ¢

The first evolute of creation according to the Samkhya is :

(1) Prakrti (2) Purusa (3} buddhi (4) ahamkara

H@ﬁﬁﬁaﬁﬂﬂaﬁaﬂnmﬁm%:
) ST (2) 959 (8) = - (4) SR

14



41.

42.

43.

44,
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Samkhaya philosophy advocates :

(I) theism (2) spiritualism
(3) monism (4) materialism
qre a9 fopgen guel ®ear & 7

(1) ZeaaEs (2) STETHAE

(3) UmTTar (4) Nfaepars

Which one of the following is both cause and effect according to the
Samkhya system ?

(1) buddhi (2) mind (3) Prakrti (4) Purusa

m@h%wﬁw&mﬂﬁﬁ?mwwmﬁ%?
1) 3= () = (3)  wepfer (4) 3o

The nature of evolution according to the Samkhya is :

(1) mechanical (2) teleological
(3) linear (4) none of the above
g g9 3 TR [ &1 weg 2 -
(1) =ifm (2) MG
(3) wmE (4) SR ¥ I 78
The liberated soul according to the Samkhya is Characterized by :
(1) existence only (2) bliss only
(3) consciousness only (4) existence and consciousness
W& & STTER G Jo9 o7 oy & -
(1) was qar (2) BT =
(3) @I A= (4) T AR ey
15
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45.

46.

47.

48.

Which one of the following is the feature of the Samkhya Purusa ?
(1) Knower only

(2) agent only
(3) Knower and experiencer
(4) Knower, agent and experiencer

Frfafaa 7 $i qicg 759 & @@ 8 7

(1) eHael ST (2) a el

(3) ST auT el (4) S, W q™r e
Which one of the following is not true of Samkhya system ?
(1) dualism (2) parinamavada

(3) absolutism (4) spiritualism

A= g9l & gag § Freretad § @ @i 9ot A8l 8 7
(1) aga= (2) GRemHEE

(3) FRusEm (4) STATHAR

The means of liberation according to the Samkhya system is :
(1) discriminative knowledge

(2) non-discriminative knowledge

(3) action

(4) devotion

Hieg a9 B AR HE H WA ¢
(1) 9 s (2) TSI S
(3) @ (4) W

Which one of the following pramanas has not been accepted by the
gamkhya system ? '
(1) perception

(3) authority (4)

(2) inference
comparison

16
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mashﬁﬁmﬁrﬁaaﬂﬁﬁﬁmﬂﬁeﬂmwﬁmw%?

(1) wae (2) IgHT

(3) = (4) ITHE

The author of Yogasutras is :

(1) Hiranyagarbha (2) Patanjali

(3) Vacaspati (4)  Vijnanabhiksu
AT & ol §

(1) f&xogmst (2) gcisTier

(3) aTeregfy (4) fasirfing

Which one of the following is mot included in the Kriyayoga’ accord-
ing to the Yoga philosophy ?

(1) tapa (2) svadhyaya

(3) Isvarapranidhana (4) chauting of mantras

Wﬁh%ﬂ@nﬁwﬁfﬁgﬁﬁﬁaﬁa‘m’ﬁw@aw

(1) 99 (2) W@
(3) EETHferyry (4) wHrEET

Avidya in Yoga philosophy is :

(1) anirvachaniya

(2) absence of knowledge

(3) knowledge of the Opposite object
(4) none of the above

Eﬁfra?ei'rrﬁari%‘rm%
(1) Sifadaeg (2) 5 #H ayug
8) W@l T @ s B Suga & g o

17
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52. God according to the Yoga system is :

(1) a special person (2) creation of the world
(3) destroyer of the world (4) impersonal

T 23 & STgER g ®

(1) goufasy (2) ST Rl FoT

(3) ST HT HERE 4) datas

53. According

(1) intrin

to the Mimamsa system knowledge is :

sically valhd

(2) intrinsically invalid
(3) extrinsically valid and intrinsically invalid

(4) intrin

sically valid and intrinsically invalid

HHTET 299 & STER FH @

(1) @«
(2) ¥«
(3) gxa:
(4)

54, Mimamsa

gTATg
STITHY

qTETO QAT &G STUTATO
TG qer @ ST

system of Kumarila believes in :

(1) akhyativada (2) viparitakhyativada
(3) satkhyativada (4) atmakhyativada
e Bt HrArar WS A
faaiaefaars
(1) orEAaas (2)
(3) T (4) STCHEATEE
55. Which on¢ of the following is not a feature of the apurva of the

Mimamsa SyS
it is born of sacrifices etc.

it 1s a SpeCial quahty (4)

(1)
(3)

tem ?
(2) it produces heaven etc.

it is a conscious substance

18
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Hitar 2o & orqd o Frfafag & @ A9 Rdvwar 78 2 -
(1) 78 arnfs & 39— &
(2) ¥' @i = Iq=7 Hear 2

(3) I® o1 [y &

(4) T& I+ =g B

Maya according to Samkaracarya is :

(1) real (2) unreal

(3) both real and unrea] (4) neither real nor unreal
IBTEAE & TR Hyr L -

(1) &g (2) o18qg

(3) & FEg =Y (4) T |q 9 otEg

Brahman jg that from which the world is born, in which the world
stays and in which the world is dissolved this definition of Brahman

is his :

(1) Svarupalaksana

(2) tatasthalaksana

(3) both Svarupa and tatasthalaksana

(4) neither Svarupa nor tatasthalaksana

qEH I T S o a8 ety ﬁa%_aﬁrmaﬁa%ﬁwamqg
TR I P oy 2 7

(1) TE&Twer (2) ey

Samkaracarya ?
(1) - objective- worlq (2) atman
(3) dream- world (4) sky- flower

19
P.T,0.
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59.

0.

61.

62.

AHEAE & FTTAR 395 9 &I WIATAS Tl © 7
(1) IEG-SF1q (2) ST
(3) |- (4) STTEBIT-ToT

According to Sankaracarya the Brahman has :

(1) no difference (2) Sajatiya difference
(3) Vijatiya difference (4) Svagata difference
i B STER HEH A

(1) ®E 9= TE 2 (2) woTE AT B
@) faoia 9T B (4) T T ©

Which one of the following is the mark of the real according to
Samkaracaya ?

(1) utilitz (2) knowabilitz

(3) puceivabilitz (4) non-contradiction
SEREIR 'é‘%aﬁeﬂﬁ‘rﬂrﬁrﬁaﬁﬁﬁﬁ?ﬂqaﬁrw%?
(1) IqAIEr (2) ST

(3) ETT (4) TSI
Samkaracarya docs not believe in :

(1) jivanamukti (2) sadyahmukti

(3) videhamukti (4) kramamukti

geprerd fopar faeara SE A

(1) St (2 wEHe
(3) faRegf (4) AT

Which one of the following is not a feature of maya according to
Sainkaracarya ?
(1) bhavarupa

(3) beginingless

(2) abhavarupa
(4) anirvacaniya

20
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siFTETd & STgER FrefaRad # | @ AT & T @ 2 7

(1) HEEY (2) SAHTEGSY

(3) oI (4) oA

The means of liberation according to Samkaracarya is :

(1) Knowledge (2) devotion

(3) action (4) both devotion and action

A & STIAR S 1 @req 8 7

(1) s (2) R
(3) (4) R iR HH =T
According to Samkaracarya ignorance is removed by :
(1) devotion to Brahman (2) disinterested action
(3) knowledge of Brahman (4) Brahman
AHEAE & AIER ST e 3x dver & 2
(1) =EH =t s1fem 9 (2) fr=em &d §
(3) =&H 9 q (4) =Ew q
According to Samkaracarya activity belongs to :
(1) body (2) consciousness
(3) ego (4) God
VBT H STIAT BT Fred &R § 2
(1) s (2) =T
8) srREr (4) X
Samkaracarya believes in -
(1) Sat asat khyati (2) akhyati
(3) anirvacaniyati khyat; (4] anakhyati
21
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67.

68.

69.

IHEEd A ©

(1) & Faq =i (2) STERY

(3) erfveer =t (4) STARETT
Knowledge according to Samkaracarya is :

(1) mental activity (2) object — dependent |
(3) subject dependent (4) quality of mind
BT &% STHER 9 &

(1) == EBRar (2) a&gy oA

(3) raT o (4) =T & JT

Which one of the following is the true feature of moksa according to
Samkaracarya ?

(1) attainment of a new state

(2) attainment of a new quality
(3) attainment through karma
(4) attainment of what is already there

Rrfofae ¥ @ i & STTAR el & @l 41 8 7
(1) & raw & mi (2) & TOT M A
(3) ®H A IuTT= (4) o< "I

Ramanuja does not believe in :
(1) jivanamukit (2) kramamukti

(3) videhamukti (4) devotion as means of mukti

g P fagare e @ € 7
(1) Sty
(2) R

(3) ﬁa@gﬁﬁ
(4) gﬁﬁ%ﬂﬁ%ﬁqﬁﬂﬁﬁ
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71.

72.

73.

16P/229/3

The world according to Ramanuja is :
(1) real

(2) unreal

(3) both real and unreal

(4) neither real nor unreal

I & SFTFAR o7 B

(1) &g (2) sraq

(B) IF g =t (4) T &g 7 or8qg
The source of genuine knowledge according to Plato s -
(1) concepts (2) opinion

(3) sense - experience (4) authority

S B TFAR T 51y "I R

(1) Huag (2) 79

(3) FErgeE @) s

According to Plato the world is :

(1) chaotic (2) rational

(3) chance - dependent (4) irrational

e & STIAR ST B ,

(1) S1=mafer (2) PG

(3) HArMfA (4) STTHET
According to Plato :

(1) idea is one (2) idea is changing

(3) ideais particular (4) these are many ideas
QA F T

(1) 787 o 2 () 99T IRadashe &
(3) " fagy ¥, (4) T o ¥
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74. Which one of the following is true according to Plato ?

75.

76.

17.

(1) ideas exist in human mind
(2) ideas exist in divine mind
(3) 1ideas exist in them selves

(4) ideas are derived from experience

Qe B AN FrItEd #§ B e 7

(1) gy wa-a9 7 ¥ | (2) we & A A 8
(3) g @d ¥ |q © | (@) waE SREgEE | W €|
The highest science according to Plato is :

(1) astronomy (2) dialectic

{3) arithmetic (4) geometry

el F FAFAR |ared s T

(1) AT (2) &g

(3) TR (4) wEERT

According to Aristotle the object of God’s thought is :

(1) God himself (2) man

(3) ideas (4) world
aﬂﬁ%@ﬂé&ﬂ?%ﬁaﬂwm%:

(1) @d $2ax (2) #IHA

(3) TEH - (4) ST

According to Aristotle :
(1) only form is eternal

(2) only matter is eternal
(3) both form and matter are eternal

(4) neither form nor matter is eternal
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79.

80.
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ST & HATAN :
(1) o TR ey B (2) Fa@ z=A B §
(3) SR &R z=7 AT P ® (4) 7 R 7 27 B ®

According to Aristotle :

(1) form is prior to matter (2) matter is prior to form
(3) both are independent (4) both co-exist

HIE] & STER -

(1) PR %7 & gaar B (2) =9 T} @ gea 2
(3) & w@ow & (4) A TeoTiaEam &

Aristotle uses the ‘third man’ argument against Plato’s theory of ideas
to prove that : '

(1) ideas are imaginary

(2) ideas follow object

(3) object alone are real

(4) relation between ideas and objects is not possible

SN CY T & ‘AR * T P
(1) T Feafaeg &

(2) T9F =t & st ®

(38) wvaref & | ¥

(@) "o g v & A dey dwg qd 2

Descartes takes a clyue for his philosophi-zing from 9

(1) Logic (2) Physics
(3) Mathematics (4)  Theology
(e o e TR
(3) Ton (4) Sefey
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81.

82.

83.

84. Th

Descartes is :

(1) theist (2) pantheist
(3) atheist (4) empiricist
QET B
(1) Sy (2) TALEREE
(3) [iazar: (4) SEETgHarEt
The essential attribute of mind according to Descartes is :
(1) taste (2) extension
(3) sound (4) thought
3FN & STgAR 7 B I YT &
(1) @ (2) RER
(3) @i (4) fa=m
Which one of the following cannot be attributed to Descartes ?
(1) dualism (2) monism
(3) theism (4) interactionism
Brffag § @ Fha 2@ @ @y A& SheT S dhaT 7
(1) &a (2) UHTHAR
(3) éaa'{aﬁ (4) w-m
« source of certain knowledge according t;tDescartes is :
(1) sense-experience (2) fiou
- leas (4) inference
(3) innate idea
Frfygd ST9 @ AG ¢
g (2) wE
(1)
s (4) SIGHH
(3)
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85. The idea of God according to Descartes is :

86.

87.

88.

(1) caused by God (2) caused by myself
(3) caused by experience (4) caused by religion
SR B STTER €99 B wr F BT B

(1) Zeax 2) ¥

(3) sRETgwE (4) g

Which one of the following is true according to Descartes ?
(1) a thing is good in itself
(2) God creates a thing because it is good

(3) a thing is good because God has created it
{4) God does not create any thing

ﬁmﬁ%mﬁw%f@ﬁﬁﬁﬁﬂm%?

(1) 0% a%g w2 & g7 oy &

(2) %Wm.ﬁwﬁmm%-ﬁ%ﬁmaﬁ%n
(3) ﬁéﬁ?@%ﬂ%ﬁ@ﬁ%ﬂ%ﬁé&mﬁm%;

(4) 399X H/B N sq=7 7S Har)

Which one of the following connot be attributed to Spinoza

(1) Monism (2) God =~ worship

(3) Parallelism (4) Impersonal God
ﬁw%%aﬁﬁﬁﬁﬁqﬁm%muaﬁvhamm?
(1) Uepdeam (2)  RRAT-y

(3) TAMFRAR (4) Ry fex

According to Spinoza :

(1) Thought is prior to €Xtension
(2) extension is prior to thought
(3) both coexist

(4) both are infinite
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ReqEeT & STJaR
(1) ﬁﬁ??fﬁﬁﬂ?'ﬁ qEer B (2) foeR B @ 9 8
(3) i e-sifcEa g1 (4) FF =T T

89. Which one of the following is true according to Spinoza ?
(I] God has created the world
(2) There is a purpose in creation
(3) God is an object of worship
(4) There is no purpose in creation
et & SraR FreREd B wd ¥ 7
(1) dsax ¥ gite @ =1 A 2
) BRe e A e

(3) 29a¥ ST @l fawa B
() Tfte =T | FrE g el B

90. The essential feature of substence according to Leibnitz is

(1) independence (2) force
(3) knowledge (4) will
qrAtTes & A KA P @ e i
(1) T (2) QR (3) = (4) =BT
9]1. Which on¢ of the following holds that God has created the best pos-

sible world ?
(1) Leibnitz (2)
rﬁ@ﬁﬁﬁaﬂﬂqﬂm%ﬁﬁéw{@mﬁmmaﬁ

Plato (3) Spinoza (4) Locke

f:p:{
I
[1] ;_:ﬂrgea\ et (2) el
4)

) eglml
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93.

94.
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Which one of the following holds that objects are in harmony with

each other because God has made them So ?
(1) Aristotle (2) Descartes
(3) Leibnitz (4) Spinoza

Frafife & & i @ & B aegell § wweax |mior saR
¢ e I o= Ymr T R 7

(1) SR\ (2) QI

(3) SISy (4) Regsram

According to Locke the idea of cause and effect arises from :

(1) Sensation (2) Sensation and Reflection
(3) Reflection (4) God
m%e@nw—mwmﬁmﬁmm%?

(1) <ag=r (2) HaEar gun SR

(3) oTgfe (4) Fwax

Which one of the following is not held by Locke ?
(I) God exists

(2) God’s existence is certain
(3) God’s essence can be known
(4) God’s essence cannot be known

FrRRET # ¥ B dre @ oary a6 S 2
(1) 3% & awr &

(2) I F aW Pfygg &

(3) S99 B AR ST o e &
) s‘sarzsrﬂﬂaﬁrwﬁmmm
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95. According to Lock which one of the following is not ture ?

96.

9.

(1) Geod is active only

(2) Matter is passive only

(3) Soul is active only

(4) Soul is both active and passive

il & AR Preffad & @ @ @ T8 & 7
(1) 29a¥ daw apd B

(2) STedwd daw AR &

(3) STTHT dhaw Ahd @

(4) omer ahpa ok Rt ST 8

According to Locke 1 know that God exist by :

(1) sensitive knowledge (2) demonstrative knowledge
(3) intuitive knowledge (4) faith
m%wmmﬁwi%éwwaﬁw%?
(1) sSEargwfas s (2) P s

(@) SR (4) o

Which one of the following is not true according to Locke ?
(1) Whatever mind directly percives is idea

(2) Such idea is simple idea
(3) Mind can frame complex ideas
(4) Mind can frame simple ideas

aﬁa%%afgeﬂﬁfwrﬁ‘-\ﬁaﬁﬁ%a%ﬁaﬁqﬁ%?
(1) 7 T GTE SRIE HTT § 8 S T
2) S T B U B €

3) e SifeeT SRt @ T B AR ¢ |

(@) o EeE Tl T wT G E
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Which one of the following is not true according to Locke ?
(1) mind and body exist as real things

(2) mind affects body

(3) body affects mind

(4) mind and body do not affect each other

A6 & AR Frafafiag & @ A g 8 & ?
(1) =7 T IRR arafas agqe 8

(2) =9 SR & g9 &¥ar 3

(3) R #7 F g e B

(4) =7 T X o gEY @ g T8 v |

Which one of the following is not true according to Berkeley ?
(1) human mind is active

(2) it can crcate all ideas
(3) some ideas are produced in human mind by another ageney
(4) this agency is God

%w%faaﬁ@aﬁwaﬁ%mjmrﬂ‘é’rﬁﬁ%?
(1) =g 79 afpg ®
(2) & | SRt @ Pt wx gwar

B) W 7T & 55 gww g wl &R oo A ¥
(4) & &Il yav B

100.Which one of the following is not true according to Berkeley ?

(1) fire produces warmth

(2) thereis a constant relation between fire and warmth
(3) this relation is a law of nature

(4) this relation is caused by God
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T B AR Pl § § HF qd a8 ¥ ?
(1) T | T IAH B B |

(2) T S T H fgd d@ey B

(3) TE Hdy yepfa =1 A B

(4) ¥8 Hay 99X BRI Sd ¢ |

101. Which one of the following according to Berkeley proves that the
world always exists ?

(1) When 1 alone perceives it
(2) When some one else perceives it
(3) When either | or some one else or God perceives it

(4) When no one perceives it

seer & R PR 3§ @ R @ & & g @

T BHIAM © 7

(1) /& 38 Haw A J@ar g |

(2) T IQ FI3 T IEAT & |

(3) S I/ § A o Al WX G B
(4) S« IY Hls AE @ |

102. Which one of the following is refuted by Berkeley ?

(1) Abstract idea (2) General idea
(3) Idealism (4) Theism
Preifafad § @ Regar @sT aod & 8 7

(1) S T (2) @mE S
(3) UHFATE (4) FRETER

103. Ideas acording to Berkeley :
(1) are generated within the mind

(2) represent objects

(3) are imprinted by God upon the mind which percieves them

(4) ideasare abstract
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Fehel & FTTH

(1) oF 79 3 fax 79 ad ¥

(2) S aEg i B ¥

(3) ¥IF 9% BRI AEY A "W u¥ oifhd & ¥
(4) TT ST B ¥

104. Which one of the following can not be attributed to Hume ?

(1) positivism (2) skepticism

(3) idealism (4) empericism

P & & a3 a8 siter o waar 2
(1) Hgerare (2) Hsar

(3) TETaE (9 SREmEEE

105. Which one of the following is true according to Hume ?
(1) impression is a more lively perception
(2) impression is a copy of idea
(3) there is no self-evident knowledge of any kind
(4) there is no contradition in assuming that fire will not warm

B & AR frefafead & @ o 2 o

(1) HE PR Sapa we woer ¥

(2) HEPR 99T @ gfaRmg ¥

(3) W'ﬁwwmmm@ﬁm

(4) %mﬁﬁﬁm—ﬁﬂu%ﬁﬁmﬂﬁﬁﬁ?ﬂﬁ

106.The belief in the relation of cause and effect accordig to Hume IS :

(1) wuseless in conduct of life (2) useful in conduct of life
(3) based on sejf evidence - 4) iinpractical

BT & TR F0-g7d g & Rasgrg -

(1) ST FoewT § srqeartt & (2) ST <ererey
(3) = R =X ey 2 (4) %%ﬁ SUGRf &
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107.The soul according to Hume is :
(1) simple
(2) 1identical
{3) eternal
(4) a theatre of successive perceptions -

BgH & ST ST §
(1) 9

(2) WSUgad

~

) fr
(4) FE-ST et gFell 1 FHA

108.The appropriate term for Kant’s philosophy is :
(I) rationalism (2) dogmaticism
(3) criticism (4) pragmatism
FHie & a9= > g SfEa o= B
(1) Frea= (2) B3

(3) STRIETE (4) oTeifRITE

109. The materials of knowledge according to Kant are derived from :
(1) senses (2) mind |
(3) both senses and mind (4) neither senses not mind
e & ITIATT BHR & dﬁ‘ﬂﬂﬂﬂ'gva el ® -
(1) S 3 ) gfx &

(3)3%@?3@@????{ (ﬂ?f'sﬁ'ﬂffﬁ?fgﬁ&’ﬁ

110. According to Kant which one of the following is not true ?
(1) things — 10 — themselves exist
(2) we can think them

(3) wecan know them

(4) we cannot k1O ther
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®e & FFAR Frafafad & & A9 ad 7€ 2 2
(1) @@d - o axgsll & |« 21

(2) B9 I°% IR H 9 gHd T

(8) BH I=T SIH Ghd & |

(4) BH IT W9 & wHq |

111. Body is an extended thing’ - this according to Kant is :
(1) analytic judgment
(2) synthetic judgment
(3) synthetic apriori judgment
(4) both analytic and synthetic judgment |
R AR 9% 8 - 9 Hie F ogEr P
(1) RsivvTEs fofg |
(2) HeamUTeEep oty
(3) WYUIICHe AT Frofy
(4) TARIIOIHE To Hodwonenes oty 2

112. According to Kant we have universal and necessary knowledge in :
(1) physics only :
(2) mathematics only
(3) both physics and mathematics

(4) metaphysies only

HE & FATAR AN stfrapt sy S &

(1) waa HAifcer F (2) Faw g g
(3) #ifeel 3T o A H (g) %aaaarﬂquq

113. Space and time according to Kant are :
(1) real things (2) qualities of thin gs
(3) forms of sensihility V' forms or unq _
' t:"'Sf-"'cll'ldmg
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FT & AFAR 29 qur FrT

(1) ar=ias awge (2) gt B T
() HI=T B e (4) THYRE B FHR

114. Which one of the following is not held by Kant ?
(1)  things-in-them selves exist (2) they must exist

(3)  they are thinkablc (4) they are knowable
e & & @ wie @ o a8 2 7

() wd-A-awgit At ¥ (2) T€ SFaT B =feT
(B) 2 == Arg ¥ (4) @ SV arg

115. Which one of the following is true according to Kant ?
(1) there can be no knowledge unless there is a knower
(2) this knower is a substance or soul-substance

(3) this knower is immortal substance
(1) this knower is a simple substance

FT & FFAR fFrafarad & F AT ad 22
(1) mn 6 o s el 81 e |

(2) I T F AT HTET-EST B |

(3) TE ST ST ZA

(4) TE S W 54 B

116. Which one of the following is true according to Kant ?
(1) God exists and we can know it |
(2) God does not exist and we can kI:lOW it
(3) We cannot know whether God exists or not .
(4) We can prove God’s existence but cannot disprove it

e # & @ BT & AR GE 2 _?
N ‘gﬂ-{ﬁm%aﬁ‘{%ﬂaﬁﬁﬁm%
) S o A T B S R T e
ES{ S e S W 6 g ¥ ar A

@ o gt @ A T T wwd ¥ g et T e ge
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117.Kant can be said to be :

(1) a subjective idealist (2) a transcendental idealist
(3) empirical idealist (4) objective idealist

HE Bl FHET T Fobell & :

(1) STt gogaE: (2) STFgHaATIa gETarE!

(3) Eargwias gemarh (4) TIETE THIAET

118. Which one of the following is supposed to have aroused Kant from his
‘dogmatic slumber’ ?

(1) Descartes (2) Hume
(3) Locke (4) Berkeley

ﬁqﬁf@aﬁﬁﬁﬂww%ﬁawﬁmaﬁeﬂaﬁ‘@aﬁr
M= ST v

(1) 2wt (2) &g

(3) T® (4) =t
119. Which one of the following is not correctly matched ?

(1) Plato - theory of ideas

(2) Aristotle - unmoved maver

(3) Berkeley - immateriglism

(4) Leibnitz - intellectual love of God

e & & B gafo 9@

(1) e - OO i

(2) ST -~ oTI =T

(3) Tehat R L

(4) EEiEST - B Y S RLt
120. Which one of the following is a subjective idealist ?

(1) Plato (2) Berkeley

(3) Kant (4) Hegel
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Fr=faiad § @ 9 S gogas) 7

(1) wier (2) Tt
(3) e (4) T
121.Which one of the following believes in pluralitz of substance ?
(1) Leibnitz (2) Spinoza
(3) Descartes (4) Hume
Frafofaa & & 99 g0 & ot # fgar & 8 7
(1) <gEEs (2) o
(3) 2wt (4) =g
122.There is no substance that does not act — this view is held by :
(1) Descartes (2) Spinoza
(3) Leibnitz (4) Hume
Yo B 7 7S § o Bean W e - 9€ A fhaw § 7
(1) e (2) e
(3) wgaigor (4) T

123.Which one of the following is not true according to Leibnitz ?

(1) God is the highest monad

(2) He is an individual

(3) Man can form a clear idea of God

(4) Man cannot form a clear idea of God

S § R B Aty & ogER W T E 7
(1) St wdre Rrgfeg

2) aga‘?[ﬁﬂ%\
7 $9EX T T R @ w@ehal © |

[ti]) %jﬁﬁsmmwwﬂgam‘
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124.Which one of the following is not true according to Leibnitz :
(1) There is a perfect harmony in monads
(2) monads are alike in qualitz
(3) monads are not determined from without
(4) Like a watchmaker God regulates the monads

Frfufe & & @ aeafes & oFER @ w8 & 2

(1) Rrgfget F gof anfeer 3

(2) FoEferg Tomes w9 @ A ¥

(8) Frferg awt F Frifm =8t ¥

(4) U@Hﬁﬂ%ﬁﬁé&ﬂ?ﬁiﬁ%ﬁﬁ@ﬁﬁﬂﬁm%l

125.Which one of the following is true according to Leibnitz ?
(1) the world is perfect

(2) the world is best possible world
(3)  the world is both perfect and the best
(4) there is no evil in the world

TEAET & Tgar Prafafes ¥ X AT wd B ¢
(1) o gof &y

(2) ST Halaw Hug S 2

(@) ST 9ol @2 wateam aF 3

(4) I H g W ¥

126.Which one of the following holds that knowledge begins with experi-
ence but does not arise from experience ? P

(1) Descartes (2) Locke (3) Berkeley (4) Kant
RIS 5 X DT AT R o T B ey o

(1) Zerd @ @ Q) =S @)
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127.Which one of the following is known as the 'god - intoxicated’ philospher ?

(1) Plato (2) Aristotle (3) Spinoza (4) Leibnitz
ﬁtrmaﬁaa%‘ém~m’mﬁﬁm%wﬁww%?
(1) w¥er 2 SR\

(3) Teg=rSm (4) wEEiTEST

128.Which one of the following philosophers supports a kind of idealism
and refutes other forms of idealism ?

(1) Kant (2) Berkeley (3) Heqel (4) Hume

Frfifag & @ i et o usR & gggare & gaeds &ar 8 3%
TR IR & TFIaE] Bl TS BT 7

(1) @i (2) S (3) (4) &FA
129.Which one of the following holds that contradiction is the root of all

life 7 '

(1) Descartes (2) Kant (3) Hume (4) Hegel

FreiferaT & & A 7ar & 5 Ry aee SieT & g7 & ?

(1) b (2) @i @) =g @) &

130.Which one of the following holds that the laws of realitz are the some
as the laws of logic ?

(1) Hegel (2) Kant (3) Locke (4) Hume

Crfofiae # @ @ A & aq S e qu a3 e o

(1) (2) = (3) Men (4) wgH
131,Radhakl'8hnan supports :

(1) Mamrialism (2) Idealism

3) Empiricism (4) Skepticism
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VYR fpaad aaefT #ea & °?

(1) Aifaepare (2) TIgaR
(3) EiaATgHEaT (4) WA
132.The principle of hedonistic calculus has been propounded by :
(1) Kant (2) Bentham (3) Mill (4) Epicurus
YEAIR! STRhe &1 forsia o ofquiee fear 2
(1) @i (2) e (3) Prer (4) sdeEE

133.Which one of the following according to Bentham is not a criterion {or
deciding the superiority of one pleasure over the other ?

(1) quantity (2) intensity (3) certainty (4) quality
I % SN OF g B gl g A 4 Shear Pfdeg &1 3
e Fr=feiee § %gag:r AFES % s ?ga:”

(1) == (2) digar (3) Ffemaar (4 T

134.According to Mill when we are in a state of doubt I'Cgﬂfding tha
desirability of one pleasure or the other, we should consult -

(1) the church (2) religious book
(3) competent judge (4) our conscience

T & SR s % g gieaar & & :
Rafr & & 1 2% < St e R e

(1) o= &) (2) i ey gy
3) THH ST 3 (4)&@%;@
135.Which one of the following deduces morat 1ws from bigjge; 1]
. C 2
(1) Kant (2) Spencer .
(3) Bentham (4) Butler
41
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Freafefea & & S A et & e bt 3 Fefa s ® 2
() e @) @\ (3) e @) T

136.Which one of the following is the mark of superiority of a pleasure
according to Mill ?

(1) quality (2) quantity (3) duration (4) extension
e &% ergar Frafafad § @ @9 R g & Sl & a@ g 7
(1) 7o (2) == (3) oTafy (4) faer

137.Mill believes that happiness includes :
(1) presence of pleasure
(2) absence of pain
(3) both presence of pleasure and absence of pain

(4) indifference to both pleasure and pain

Brer o e S F @@ # onfAe ©
(1) g@ # T
(2) 3:@35TGT9WE|'

(3) g@mmaﬁngzamamﬁ
(@) g@mgzgaﬁf%qﬁrwﬁﬂm

138.Consider according to Mill:
(A) pleasure is desirable N
(R) because pleasure is disired
{ your answer from the following codes :
Now selec A and R are true (2) oA and R are false
g ‘:‘:: ;e but Ris false (4) A.is false but R is true
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i & srgar frar A -

(A) g@ aredm &

(R) =% o 1 ze=7 &y 2
mﬁwﬁf@aﬁﬁmwgﬁqz

(1) A @& R S4F q& (2) A T R 4 To 2
(3) A W B A<y R v B (4) AT B g R udr B

139.Which one of the following is not true of the Kantian ethics ?
(1) itis formal

(2) it is rigoristic
(3) itis based on practical reason

(4) it is based on theoretica] reason

140.According to Kant moral law js -

(1) empirical (2) :;priori
(3) hypothetical (4) Pleasure - producing
1) g (2) TR
3) R 4 GO
141.Which one of the followjng can be called morg) purist »
(1) Bentham (2) Mill
(3) Kant

- (4)  Hege)
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Frefafad & @ feg Afaes geaamdl w1 o1 a7
(1) Sy 2) M=
(3) @i (4) T

142.Accordig to Kant the harmony between virtue and happiness is es-
tablished by :

(1) good will (2) moral will
(3) reason (4) God

Wﬁwwwwﬁwammwﬁaﬁmm%?

(1) g Hehea (2) Hfs 3=\l

(3) = (4) =
143.The categorical imperative according to Kant is :

(1) a statement of fact (2) acommand

(3) conducive to pleasure (4) divine will

BT D STTAR et SR B
(1) T & BT (2) TR
(3) GRS (4) o =

144.Complete good according to Kant is :

(1) Virtue (2) Happiness

(3) both virtue and happiness (4 categorical imperative

i 3 AR WL g

2 g@
) ercder TR
(3) &I e ggﬁ )
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145.Which one of the following is a perfectionist ?

(1) Mill (2) Kant (3) Hegel (4) Spencer
Frfifead & @ & gofamary & 7
(1) foe (2) i (3) T (4) =Y
146.The concept of lokasamgraha has been propounded in :
(1) The Gita (2) Jainism
(3) Buddhism (4) Carvaka
THUTE F AT P iy ot oy © -
(1) frar (2) oI g
(3) &z T ‘ (4) =mEtE ==
147.The concept of Mahakaruna is associated with -
(1) Buddhism (2) Jainism
(3) Yoga - (4) Mimamsg
TEHEC 1 HTUROT s dag B
(1) 9w =9 (2) & T
148.Which one of the following holds that moralitz i
(1) Descartes | (QT rKantls e source of religion 2
(3) Locke (4) Paley
ﬁmﬁmﬁﬁaﬁqw%ﬁaaﬁwm%ﬁm%?
(1) e 2) e |
(3) M® (4) ¥
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149.0bjects of moral judgment are :

(1) all actions (2) non-voluntary actions
(3) spontareous actions (4) voluntary actions
e Frelg & fawg @ ¥ _
(1) A = (2) SITeE® B
(3) T @A (4) URsw HAd
150. ‘God is all and all is God’ - this view is held by :
(1) athecism (2) deism
(3) pantheism (4) dualism

497 9 3B ¥ IR w9 B $va¥ ¥- a8 Rpaeh 79 € 7
(1) Frlzatas (2) FHEAATRILARATR

(3) GagaEE (4) &qaE
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wafdi & fore Frden
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WW-WW-mH:Mm?ﬁMW
S 10 i v e 8 s
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